
Itemul 5: 

 
 1.          Calculați valoarea expresiei:                                                                                                                L 

                                                                                                                                                                                            0 

                 √20 −
3√5+10

√5
  =                                                                                                                               1 

                                                                                                                                                                                            2 
                                                                                                                                                                                            3 
                                                                                                                                                                                            4 
                                                                                                                                                                                            5 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

   2.             Calculți valoarea expresiei:                                                                                                            L 

                                                                                                                                                                        0 

                
214  ∙7−2

92  =                                                                                                                                          1 

                                                                                                                                                                        2 

                                                                                                                                                                        3 

                                                                                                                                                                        4 

                                                                                                                                                                        5  



  3.      Calculați valoarea expresiei :                                                                                                                L 

                                                                                                                                                                         0 

            
204

28∙25
=                                                                                                                                                  1 

                                                                                                                                                                         2 

                                                                                                                                                                         3 

                                                                                                                                                                         4 

                                                                                                                                                                         5 

             

                                                                                                                                                                                                                                                                                                                                                                                                   

                                                                                                                                                                           

                                                                                                                                                                           

 

                                                    
 
 
 
 
 
 
 

 
 
 
 
 

  
 
 
 
 
 4.        Calculați valoarea expresiei:                                                                                                                L 

                                                                                                                                                                         0                                  

               
3√2−8

√2
+ √32 =                                                                                                                                                             1 

                                                                                                                                                                         2 

                                                                                                                                                                         3 

                                                                                                                                                                         4 

                                                                                                                                                                         5 

 



5.          Calculați valoarea expresiei:                                                                                                           L 

                                                                                                                                                                      0  

              
1−150+414

88  =                                                                                                                                      1 

                                                                                                                                                                      2 

                                                                                                                                                                      3 

                                                                                                                                                                      4 

                                                                                                                                                                      5 

   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
              
 6.         Calculați valoarea expresiei:                                                                                                           L 

                                                                                                                                                                     0 

              
28

√7
+ (√7 − 2)2 =                                                                                                                          1 

                                                                                                                                                                     2 

                                                                                                                                                                     3 

                                                                                                                                                                     4 

                                                                                                                                                    



   

7. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8.  

Calculați valoarea expresiei: 

 

7√2

3 − √2
+  

21

3 + √2
= 

 

L 

0 

1 

2 

3 

4 

5 

Calculați valoarea expresiei: 
9

27−6 ∙ 910
= 

 

L 

0 

1 

2 

3 

4 
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9. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

10.  

Calculați valoarea expresiei: 
2√5

√5+2
+ 4√5 - 9 =  

 

L 

0 

1 

2 

3 

4 

5 

 

Calculați valoarea expresiei: 
 
11∙35−35

810
 = 

 

L 

0 

1 

2 

3 

4 

5 



   11. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

12. 

  

Calculați valoarea expresiei: 

 

(
8

√2
 – 5,490 -  √2 + 1) ∙ √ 1

18
  = 

L 

0 

1 

2 

3 

4 

5 

 

Calculați valoarea expresiei: 

 
49∙35

632  = 

L 

0 

1 

2 

3 

4 

5 

 



13. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

14.  

Calculați valoarea expresiei: 

 
1253 ∙ 4−11 

2−22  - 59 + 19= 

  L 

  0 

  1 

  2 

  3 

  4 

  5 

  

Calculați valoarea expresiei: 

 
5√11  −22

√11
+  √44  = 

 

 

 

L 

0 

1 

2 

3 

4 
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15. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

16.  

Calculați valoarea expresiei: 

 

(√5 - 2)2 + (3 + √5) 2 - √20 = 

 

L 

0 

1 

2 

3 

4 

5 

 

Calculați valoarea expresiei: 

 
(5√2 −50)0+2

3√5
∙ √20 = 

L 

0 

1 

2 

3 

4 

5 



 

17. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

18.  

Calculați valoarea expresiei: 

 
3−5∙154

3−3∙54  = 

L 

0 

1 

2 

3 

4 

5 

 

Calculați valoarea expresiei: 

 
18

√10−1
 - √40  = 

 

  

 

L 

0 

1 

2 

3 

4 

5 

 



 

19. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

20. 

5.  

Calculați valoarea expresiei: 

(
4

5
)

2

∙
50

23 - 12024 + 20240= 

 

 

Calculați valoarea expresiei: 

 
26 +4 ∙ 27

36
 = 

L 

0 

1 

2 

3 

4 

5 

L 

0 
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21. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

22.  

Calculați valoarea expresiei: 

 
125

153 ∙ 9−4
∙ 3−4 = 

 

L 

0 

1 

2 

3 

4 

5 

Calculați valoarea expresiei: 

 

(
2

3
)

3

: 
42

33 + (6,39 + 7,342)0 - 1721 = 

 

 

 

L 

0 

1 

2 

3 

4 

5 

 



 

23. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

24.  

Calculați valoarea expresiei: 

 
92∙25

144
 = 

L 

0 

1 

2 

3 

4 

5 

Calculați valoarea expresiei: 

 
5√2 +4

√2−1
 +√2 = 

L 

0 

1 

2 

3 

4 
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25. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

26.  

Calculați valoarea expresiei: 

 
490

13∙73−3∙73 + 
6

7
 = 

L 

0 

1 

2 

3 

4 

5 

 

Calculați valoarea expresiei: 

 

35

8
∙ (

2

3
)

3

 + (74 - 2458)0- 8= 

L 

0 

1 

2 

3 

4 

5 
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